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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D - Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. Which among the following is a threat to non-traditional security ?

59/4/3

(a) War

(b)  Manufacturing of weapons

(c) Terrorism

(d) Internal disturbances

Which one of the following statements about NITI Aayog is correct ?
(a) NITI Aayog was formed on 25th January, 2015.

(b) It comes under the Ministry of Commerce and Industry.

(c) Its full form is ‘New Institute for Transforming India’.

(d) It acts in the spirit of cooperative federalism.
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3. TS o Si9 & AHAl H G STgR W gEAIeT % SAEH-IGH hi AfshaT i
fore &9 o ST ST B 2

(a) Towame sgeh & U™

(b) & =
(c) Taed
(d) Tl

4. 9Wa @ efugar f fifd & IR #, FEfafea s @ @ w@& weEi H
3T
(i) g% TeHuE AEed (NAM) % H8-HedmTs 9 |
(i) ST W A TeUE SEe (NAM) i w&ren 3 g Wl |
(iii) 9RG 9 [eUE ITEeH (NAM) 1 fifq &1 aerera 6t Fife a8 &=
TS & gL T = el o |
gl foehea ﬂﬁ? :
(a) (@), (i) 3R (iii)
(b) () AR (i)
¢ () AR (iii)
d)  Gi) 3R (ii)

5. = a1 % fou g § — f9H wh ol fiekud (A) 99T gE Wl SR (R) R
JAferd foram TRT 8 | 31 &Il Bl &9H ¥ ufgu R fiw feu mu faemedi
(a), (b), (c) 3R (d) ® & I o &9 H "al foeheq T |

SYHIT (A): 1971 H UM % |1 Ig % GNH YRd H 9gd 9g1 §& §
yromeff A |

HROU(R): ~ UIREIM  WRAE ewel & &fd ugaH % forg wromef
WST T AT TS off |

(a)  SANTHAA (A) 3 FRO (R) A1 T& & 3N R0 (R), 3hheq (A)
gl SITeAT Ll & |

(b)  SANTHA (A) TR RO (R) TAT HEl §, W RV (R), AMHAAT (A)
& AT FgT a1 g |

(c)  ANTHAH (A) HeEl B, T SR (R) TAd 7 |
d) 3R (A) Ted ], T R (R) T 7 |
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i

A process of exchanging information on defence matters between nations

on a regular basis is known as

(a)
(b)
(c)
(d)

Confidence-Building Measures
Arms Control
Alliance

Disarmament

From the following statements about India’s Non-Alignment Policy,
choose the correct ones :

()
(ii)
(iii)

Nehru was the co-founder of Non-Aligned Movement (NAM).
Bandung Conference led to the establishment of NAM.
India advocated the policy of NAM because it wanted to keep away

from the military alliances.

Choose the correct option :

(a)
(b)
(c)
(d)

(1), (11) and (1i1)
(i) and (ii)
(i) and (iii)

(i1) and (iii)

Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : There was a large-scale migration of refugees into India

during the 1971 war with Pakistan.

Reason (R): Pakistan had planned the migration to disturb the Indian

(a)

(b)

(c)
(d)

economy.

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.
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6. = 1w fou U § — f99H wh Al 3fiRREA (A) 991 gE HI FHAU (R) g
W%mwélﬁsﬁaﬁaﬁwﬂﬁqﬁqaﬁi:ﬁ%&qmﬁwﬁ
(a), (b), (c) 3R (d) ® & I o &9 H Hal fdeheq T |
S7HFIT (A) : MET & UTaq & Y FEYT bl T 99 T Tlfodd g9
I AlhdIIh €9 ¢ HN T8I GIR HW & B I Hadl &
g o g9 O Rent ford) o1 IS 3Teren = o |
FRU(R): YT JU <M < @, S AifeEd e 1 feem o, Meied o
Tcdsh ol hl THIT i o o |

(a) IHIT (A) I FHR (R) SHI Tl & 3 FHRO (R), MR (A) hl
g ST Ll & |

(b)  AfTHA (A) TR SR (R) ST HEl §, T R (R), AMHAT (A) H
g AT FgT R 7 |

(c) AR (A) HEl B, T SR (R) TAd & |
(d) AR (A) TAd 7, T RV (R) HaEl 3 |

7. YA | WY HRAshA 1 IRy fefcifga | @ feem fopam o 2
(a) THLS. 3fegdd HA™

(b) Gt sfifem=
(¢) Bl . W
@  Tosem T

8. Ti=fafied § @ SH-8 *eF T@aaar & s1¢ Tt 7T o’ ¥ Fefg UsHIfds
fofai & s 4w € 2
(i) 9T Gt ggud ¥ foh yRa & T w1 o1d omfde wafg 3R
GrHTSTeR-3AT{eh =T SH1 BT =Ry |
(i) 38 919 | o ggafd s+ o I8 gmen samanie, Iamtae 3R feami

T T2 BIST S Hehal |

(iii) haA THR HI A= T HTEd HH § Tgaqul qHes e

=T |

(iv) | TSI Sal § TAT8-HIORT 3R SHAT hl TR B HET S&
a1 |

& foeheq T

(@ (@), (i) AW (iii) b (@), (i) W (iv)

(c) (i), (Gii) R (v) @ @, (i) W (v)
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6. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : Gorbachev’s decision to normalize relations with the West
and democratise and reform the Soviet Union had some
other effects that no one anticipated.

Reason (R): The people in the East European countries which were
part of the Soviet bloc, had started to support Gorbachev
in his every decision.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c)  Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

7. Who among the following initiated the nuclear programme in India ?
(a) A.P.J. Abdul Kalam
(b)  C. Srinivasan
(c) Homi J. Bhabha
(d)  Vikram Sarabhai

8. Which of these statements about the political decisions taken after
independence related to development are correct ?

1) Almost everyone agreed that the development of India should
mean both economic growth and social-economic justice.

(i1) It was also agreed that this matter cannot be left to businessmen,
industrialists and farmers.

(iii)  Only the government should play a key role to ensure growth with
justice.

(iv) It was necessary to consult all political parties and get public
approval.

Choose the correct option :
(a) (i), (i1) and (iii) (b) (1), (i1) and (iv)
(¢) (i), (iii) and (iv) (d) (1), (i) and (iv)
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9. f=fciflga =1 FIeshIER afe i :
@) e el d faure
(i)  3f~eU TIER gRI STITARTA hl AR LT
(iii) =&t 39 A
(iv) e SgIgL sl o Jamas 9 @ e
gt foehea ﬂﬁ? :
(a) (@D, ({v), (ii), (i)
(b) (1), (Av), (1), (iii)
(¢ (D, (1), (iii), Gv)
(d  @Gv), (), (iid), (i1)

10. T=fafigd 4 9 -8 wF Sra far & s ° 981 787 & 2
(1)  FHhI YEITT 2008 H TS |
(i) I8 HEY 3TashaTg 3 YgUU & fowg o |
(iii) I8 ITCle WLER 3R SUATH & foeg o |
(iv) I8 HI €9 ¥ lhad ohl AT oh 7T o7 |
H@Tﬁ%‘?ﬂﬁ?:
(a) I (i) 3R (iv)
(b) I (iii) AN (iv)
(¢)  had (i) 3R (i)
(d)  had (i) 3N (id)
11. Torg 3 SATa % 91 HEE U | Ugelt 9R ohg H 9T YYcd @i fea ?
(a) & W HE
(b) T 3 A
(c) di=al 3 A
(d) S AW I
12.  IfhEd™ o1 Ygadl Bfeh ITHeh hid o7 ?

(a)  IT=IT @i
(b) T @H
(¢) Tt wam
d) A IH
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9. Arrange the following in chronological order :
(1) Split in Congress Party
(i1))  Imposition of Emergency by Indira Gandhi
(ii1)  Fifth General Elections
(iv)  Appointment of Lal Bahadur Shastri as Prime Minister
Choose the correct option :
(a) (D), {v), (i1), (ii1)
(b) (i), (iv), (1), (iii)
(c) (1), (11), (ii1), (v)
(d)  Gv), (), (iii), (i1)
10. Which of the following statements about the ‘Arab Spring’ are not
correct ?
(1) It began in 2008.
(i1))  The struggle was against terrorism and pollution.
(iii) It raised its voice against corruption and unemployment.
(iv) It was basically a demand for democracy.
Select the correct option :
(a) (i) and (iv) only
(b)  (iii) and (iv) only
(c) (i) and (ii) only
(d) (i) and (iii) only

11. After which general election did the Congress Party lose its dominance
for the first time at the Centre ?
(a) Third general election
(b) Fourth general election
(c) Fifth general election
(d) Sixth general election

12. Who was the first military ruler of Pakistan ?
(a)  Yahya Khan
(b)  Ayub Khan
(c) Ziaur Rahman
(d)  General Musharraf
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.
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Qs @
YT =t Tefaerar shi Hifa = faveror i | 2
1977 = W gATEl H gferolt U= § i i Sfta o fohedl g HROT Y ST
_‘?'(;”%'Q | 2x1=2
TH TSgEd i fohrgl o Taifai o 19 foafigu | 4><é=2
fifa =T & fohegl G T T YoATehd I | 2x1=2
Tes-gH hl TR & U iy YR & Tl ol gamEifea 3T Uehd T =0
AT & ? TS I | 2
% o foheal G BT Dl IATR HIWT ST 36 GIH TSCHY h1 Toh AUl
fowd o910 & | 2x1=2

WUE T
‘et wifts’ o1 T IR ® 2 TH foeedl =R o o AW fofee e aw wikE
T 7 | 24+42=4

3TTET 2019 H, YR Ffga™ ¥ 3= 370 i e &L i T | 39 ST
o fohmgl TR Tl Sl ISR HIT | 4x1=4

“GTet % N1 H §Y WRA o TIWIERIA Sreifiehr foshrd = Q21 ol ST I Teh
TRy WTfieR o1 feam 8 17 oM o 981 § g IR 3280l S | 4x1=4

“IedteRtr 3 TS St TR <1 TR Afvdeh IuwipTeti ot & feam 3 1”7
T o 94 § T qeh oty | 2x2=4

SAITARTA o1 R ToHIfd 6 ge8 fJaTerae geaieti 8 9 Ush =11 993 Jdl
2 2 Forgl 9w SRl = favewor ifvu | 4% 1=4
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14.

15.

16.

17.

18.

19.

20.

21.

22,

23.
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SECTION B

Analyse India’s policy of Non-alignment. 2

Explain any two reasons for the victory of Congress in the Southern

States in the general election of 1977. 2x1=2
Name any four agencies of the United Nations. 4x é =2
Evaluate any two functions of NITI Aayog. 2x1=2

Why is it necessary for coalition governments to accommodate and

aggregate variety of interests ? Explain. 2

Highlight any two functions of UNICEF which make it a significant part
of the United Nations. 2x1=2

SECTION C

What is meant by ‘Veto Power’ ? Name any four countries that enjoy veto

power. 2+2=4

In August 2019, Article 370 was abrogated from the Indian Constitution.
Highlight any four effects of this change. 4dx1=4

“India’s impressive technological growth in recent years has made the
country an attractive partner of US.” Support the statement giving any

four examples. 4x1=4

“Globalisation has shifted power from nation-states to global consumers.”

Support the statement with two arguments. 2x2=4

Why is Emergency considered to be one of the most controversial episodes
in Indian politics ? Analyse any four reasons. 4x1=4

Page 11 of 23 P.T.O.
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24, = feu M R w1 omydes stewm difve st fAfaRed wAl % @
U L 4x1=4

G)  fea mn o ffefeaa 0 @ fora e @ gefa 8 2

(a) MR (b) =UTA
(c) wTATeY (d) sfictent

Gi) feuw v fug ¥ ewiln e wRes efafgd § § forg o o fog 8 2
(a) STf=ifehH (b)  SheTehdl JHATEE
(c) =Wl IHafed (d) @R JHard

(i) o= @ gFafad ge fopg ay o =fed g3 off ?
(a) 1950 (b) 1975
(¢) 1982 (d) 1987

(iv) 39 T o 70 i4-91 8f4eh w8es IRt o1 ?

(a) A IH (b) .S TI.UH. SETC
OBRSEIEEGEIE d) T3dass
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SECTION D
24. Study the given picture and answer the questions that follow : 4dx1=4
(1) The given picture belongs to which one of the following countries ?
(a) Myanmar (b) Nepal
(c) Bangladesh (d) SriLanka

(ii)  The memorial shown in the picture is located at which one of the

following places ?
(a)  Shantiniketan (b) Calcutta University

(c) Burma University (d) Dhaka University

(iii) When did the incident related to the picture happen ?
(a) 1950 (b) 1975
(c) 1982 (d) 1987

(iv)  Which military ruler was the cause for this memorial ?

(a) General Musharraf (b) Lt.General H M. Ershad
(c) Ziaur Rahman (d) Zia-ul-Haq
59/4/3 Page 13 of 23 P.T.O.



(ORI
far
qig:  FHECIRET 399 Facl GIRETaT Tl & [o7g 397 G837 24 & € T
& 4x1=4

(24.1) YgH < oo™ H TERIT 1 T9E TS GId DHH-HT < & ?
(a) H’ﬂ?ﬁwaﬁﬁw

b)) ©H
(c) Hd
(d) ==

(24.2) GIT0T TRMT 1 98 o A1 =/ % § A € PRI gam g, 2

(a) HIAGHE
(b)  STAR™
(c) T

(d)  dTfREa™

(24.3) Yo wifehea™ #, dfeadt difhea™ @ @ % Raars e go
feh®reh wiqca | foham =T o 2
(a) @ SIS WHH
(b) I GSld HIgHAG
(c) SRS Frfgan @H
(d) . S TE.UH. 3WE

(24.4) 9T TAI b1 T8y foryg o1 § grafad g 2

(a) HIH
(b)  =UTA
(c) ¥Id
(d) TR
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(ORI
i

The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 24.

(24.1) Which country is Bhutan’s biggest source of developmental aid ?

(a) USA
(b) Russia
(c) India
(d) China

(24.2) A landlocked country of South Asia is :
(a) Maldives
(b) Bangladesh
(c) Nepal

(d) Pakistan

4dx1=4

(24.3) In East Pakistan, the popular struggle against the domination of

West Pakistan was led by which one of the following leaders ?

(a) Sheikh Mujibur Rahman
(b) Sheikh Mujib Mohammed
(c) General Yahya khan

(d) Lt. General H.M. Ershad

(24.4) The Seven Party Alliance is related to which country ?

(a) Bhutan
(b) Nepal
(¢) India

(d) Pakistan

Page 15 of 23
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&

FAfiigd STamu 1 eaHYdsh AR hiie AR fer 7T g1 & W
AT - 4x1=4
TR TS A1gieH o a1 fg-use faga o favam 78 & 9, o oft
faarem arfiieh SER W g3 A1 | G o 1 e SR wRd
gaEHH & fadl <t @1 o fore fopam mm o | =g gEemE™ & forw oten s i

HiT HE H Tad T off |

()  ToureH & g9 Fefafad @ | frm Ts9 =61 aififes Sgadl & STUR ®
fawfora foram o em 2
(a) I I
(b) TSUd
(c) AT
(d) T AR HTR

Gi) Tr=afafga § 9 fom WO & WHE 3 99 U8 YRd 9 T Toad &
<t =vwor <hioff 2

(a) &GUETg
(b) TR

(c) S[re
(d) IITEUhR

(iii) e i o1 Tod =t fobam TR o ?

(a) ‘fg-trse forg’ weatfaa o & forg

(b) Ueh AT S UTfehEd™ M & foTw
(¢) UIhEAH T HfTU™ dIR i o foTg
(d) oufafe YRa 4 gaamEl @ f&dt 6t 1@ e o fog
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35
B
Read the passage given below and answer the questions that follow :  4x1=4

The leaders of the Indian national struggle did not believe in the
two-nation theory. And yet, the partition on religious basis had taken
place. The Muslim League was formed to protect the interests of the
Muslims in colonial India. It was in the forefront of the demand for a

separate Muslim nation.

(1) At the time of partition, which one of the following States was

divided on the basis of religious majority ?
(a)  Uttar Pradesh

(b)  Gujarat

(c) Bengal

(d) Jammu and Kashmir

(i)  Which one of the following Princely States was the first to
announce to remain independent and not to join the Union of

India ?

(a) Hyderabad
(b)  Manipur
(c) Junagarh

(d) Travancore

(iii) Why was the Muslim League formed ?
(a) To propose ‘two-nation theory’
(b)  To form a new nation named Pakistan
(c) To prepare the constitution of Pakistan

(d)  To protect the interests of the Muslims in colonial India

Page 17 of 23 P.T.O.
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(iv)

e

fauTe & IR ° YRA 1 AT TR 1 1 TG o1 ?
(a) g fordll off gea o favrem 78 =t off |
(b) g MM, AEWTE TR 98 61 T =gt off |

(c) o8 HId hl T o TS SHT =Taa off |

(d) I8 IRRAT ok Y YfHer MYR T FagR Araat o |

qRa & fu T oo WiEEE (Y8 19 W) H IR TSAl R
@), ®, © T O & g Afhd forar w1 2 | 9 & TE AHFH & YR
W AT Sl ggaH T 3T ot ITR-gfeaent # 39 |El AW, TN 6 g

STl ht shH T 9T AHfas § fear man gefuq e1am, Fefafaa awew &

a1gan fafe
W o g4 Tegard o3, TR @ svafa o |

(1)
(i1)
(iii)

(iv)

$IUE o Adl &, HHEUS 8 grafed T |

I TS &1 8 “HATI T, T T JAA BT T g |

1965 — 1967 ® a8 MR W Ghe T ITHAT Hd a1l T |

TR <hl T8 MR
&1 Y g

A |
qafed 3T

Y vl AMH

1)

(i1)

(iii)

(iv)
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(iv) What was the stand of the Interim Indian Government on
partition ?

(a) It was against partition.
(b) It wanted peace, harmony and equality of religion.
(c) It wanted India to become a Hindu nation.

(d) It was in favour of treating people on religious basis.

In the given political outline map of India (on page 21), four States
have been marked as @), B), (© and (D). Identify these States on the
basis of information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following

format : 4dx1=4
(1) The State related to V.V. Giri, the former President of India.
(ii)  The State related to the Congress leader, K. Kamaraj.

(iii) The State from where the phrase, “Aya Ram, Gaya Ram”

originated.

(iv) The State which faced the most acute food crisis in 1965 — 1967.

Sr. no. of the | Concerned alphabet Name of the
information used in the map State

1)

(i1)

(iii)

(iv)
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27.

28.

29.

30.
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g/
(26.1)
(26.2)
(26.3)

(26.4)

(@)

4x1=4

A < qd Tegafa .. it @ gwaf~aa as o1 9 fafe |

HTUE oh dT oh. TS {hy TSI § Traf2d 9 ?

30 T w1 AW Tt sigt 9 ufig Jue, “strn g, T w6 S|
B3 |

1965 — 67 | TopE TsT 1 Ge@ TR @@ Tehe 1 AT T UST
qT ?

W US T
guehTCi fovd | AT hi Y{ehT 1 HoTeh ShIfT | 6
areret

“Sft srefearen § gUR o STavg o § Al ol i guwi w1 @w

Tl fHet 1”7 39 A % ve H i3 I deh fafen | 3%2=6
LT I 3R T IV A 9RAR™ TorHifd 3 g fohegl dF Tq@

JedTdl sl IFANR hIfST |

AYAT

3x2=6

2004 % T AT Al & I qRA o ATIBI TSHIfdh gl o oI

fohmal i fergati ot 3wl HaAfd =l TR HIWT | 3x2=6
ayd difodd ¥9 § difadd yonell 6l fhgl ar faeiwarsti sl 39rR

HIY |

HAAAT

4><1£=6
2

“gg-aifoad TSAT °# wREg | YSare HOShHY e g oot |7

foheal o9 okl <hl ERIAT & HIF 1 gHdT FHifvu | 3x2=6
EIFCEIREEITIE IR LR e kI E |

3SR HifY |

o

AASAT

dl

T gl graef] foeareti &l
3x2=6

foprgl M TS qaieRufig fgieMl Td 3o WEd bl I9MR

HIY |
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Note :

27.

28.

29.

30.
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. 4dx1=4

(26.1)

(26.2)

(26.3)

(26.4)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Name the State related to the former President of India, V.V.
Giri.

Name the State to which the Congress leader K. Kamaraj
belonged.

Name the State from where the famous phrase, “Aya Ram, Gaya
Ram” originated.

Which State faced the most acute food crisis in 1965 — 67 ?
SECTION E

Evaluate the role of ASEAN in the contemporary world. 6
OR

“In spite of the improvement in the Chinese economy, not everyone
in China has received the benefits of economic reforms.” Support
the statement with three arguments. 3x2=6

Highlight any three major developments that took place in Indian
politics during NDA III and NDA IV. 3x2=6

OR
Highlight any three points of consensus that emerged among most
political parties in India after the Lok Sabha Elections, 2004. 3Ix2=6
Highlight any four features of the Soviet system in the erstwhile

USSR. Ax1 é 6

OR

“The transition from Communism to Capitalism in Pre-Soviet
Republics was not a smooth one.” Support the statement with the
help of any three arguments. 3IX2=6

Highlight any three environmental concerns significant to global
politics. 3x2=6
OR

Highlight any three international environmental movements and

their importance. 3IX2=6
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